N = 0l & At & M A

2sHs2 2y CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ANE A & 1,425,747 1,340,204 85,543
2M=s 54 113,974 135,039 A 21,065
SZsSHsa 222 113,974 135,039 A 21,065
gy 25 29 113,974 135,039 A 21,065
201 Let24dy] 84,934 83,659 1,275
01 At 2teltl 84,934 83,659 1,275
< ysLgYl > 0
o H0IE 28JI7 ABZF LA
300,000& = 1538 4,500
o UM Y B4 F
50,000& = 1101 = 23l 1,100
o A24 HSBE 7Y
200,000& = 58 = 43 4,000
o HE|AE =4 || 600,000 * 5& 3,000
o SOOIl =X £=H  200,000& * 12& 2,400
o ROYNI 2el ¥ AZF FLH|
100,000& * 12&8 1,200
<g2gsE > 0
o LI UM =H
50,000& * 53 = * 204Al2t 51,000
o MIEEYM = 400,000 = 2% = 123 9,600
< o=l > 0
<3yl > 0
o 2HAYR FA 7,0008 * 7 * 166 8,134
202 odl 9,940 9,940 0
01 2LHO! I 9,940 9,940 0
o 2dgR =& 20,000 = 7 = 71 9,940
307 21201 A 14,000 10,440 3,560
05 RIZt2IEt = 14,000 10,440 3,560
o DoAY AlAH 2oz
700,000& » 52 x 42| 14,000
405 TtabF S| 5,100 31,000 A 25,900
01 AL EFFHSHI 5,100 31,000 225,900
o HEGHAK 600,000& = 2CH 1,200
o XotMSAE SI18FI #
350,000& = 4CH 1,400
o XotMSAIE MsI #+&  500,0008 * 5CH 2,500
F3AE FX2e 224,607 280,316 A 55,709
ANEES S 2el 224,607 280,316 A 55,709
ANEES RX2e 224,607 280,316 A 55,709
101 14 Hl 11,904 10,839 1,065
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A 23AIE A A
u: 2sAL 212
el A8 sA2el (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
03 RIAHAZ2 B+ 300 0 300
o HARFA 2RE 100,000& » 3% * 13/ 300
04 JIZtHZ2XNHESE S+ 11,604 10,839 765
o ZZAC(SLYR) 74,0008 * 4Y x 15Y 4,440
o tH+Z2HA S(SEUR)
74,0003 * 4% x 20 5,920
o Al BEEE 1,244
- X&ze 4,440,000 * 12% 533
-th+==2dAL S 5,920,000& * 12% 71
201 YEt2 | 106,803 110,797 ~3,994
01 At 22l 29,513 27,677 1,836
< YBt=ZHl > 0
o X FA(BM)
12,500& » 258& * 13 3,225
o SY¥3 FA(4MA) 8,0008 * 2588 * 23| 4,128
o JIHEH EAM =2 200,000& = 13l 200
o AYETE FUAAGBGHA)
5,000,000& = 13l 5,000
o HAALS(50L) 1,200,000& * 53] 6,000
o SYJ| AEBE HHS+2(5MA)
120,000& » 50 « 123 7,200
< IOl=Hl > 0
o Y= 2 otdg 100,000& * 4H 400
< Sl > 0
o AR =& 7,000& = 3% = 160 3,360
02 2322l 77,290 83,120 /5,830
<SS sZHMA > 0
o A8, HMI, AEE S aldl
250,000& = 13l 250
< HZHl > 0
o 2o ¥ dE)| ARHI(3HA)
1,390& = 9,000 ~* 43 50,040
< AN&EFUISXY > 0
o A2 72 2,000,000& * 102l 20,000
o JIAH, &JI&4dl |sX22el
1,000,000& * 73l 7,000
202 O4dl 3,600 4,380 A 780
01 = LHA YI 3,600 4,380 AT780
o AR = 20,000 = 3% » 60 3,600
206 TH 2 H 16,000 16,000 0
01 =8l 16,000 16,000 0
o A& =gzl UM 1,000,000& * 53] 5,000
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PAH: 2 AEAML A
M 2IAE 2R
&S AEE FX2a (9 ® =)

= - — SHE]|
CHE - EI(SA) - NRAY - B S e bl D=2t
o MJ| - Ad - JIAHAH XM
192,300& » 138 * 23] 5,000
o HUAZDE S 228 (L3 ,0HAL S S)
750,000& * 43| 3,000
o RIAXM (=, HE S)
1,000,000& * 33l 3,000
ANEHI& R 86,300 138,300 A52,000
A& HI 86,300 138,300 252,000
o A2 S =FANE HES
5,000,000& =« 33l 15,000
o Al -2 HAEA 10,000,000& = 13l 10,000
o & MIIAA FEl 7,500,000& = 23l 15,000
o Wity ZXAHl Fl 29,300
- = - 9 #E& 8,000,000& * 13l 8,000
-2y, HHYI A2 4,300,000& * 2CH 8,600
- 32014 2ZHUH 1,600,000& * 4CH 6,400
-dEE A 2H EA
70,0003 = 4504 = 23l 6,300
o AUR S 3ol EWHEHY
3,500,000& * 23] 7,000
o X&s+ MEFHY 5,000,000& * 23l 10,000
dE 328,839 281,077 47,762
2 29 2el 328,839 281,077 47,762
s 29 ¥ 24 D18 328,839 228,477 100, 362
jeilal.]l 5,743 5,420 323
N2 2RSS ES 5,743 5,420 323
o ZSHE H2(HE L et 8)
42,7203 * 5 » 243| 5,127
o AHEE = 5,127,000& = 12% 616
2Bt | 39,056 44,297 A5, 241
01 At 2t 2l 29,056 34,597 A5,541
< Ypt=ZHl > 0
o Bl 2F AZF 7Y
400,000& = 108 4,000
o BHWS HEDNI ===  8,000& » 12 96
o Z¢ 2 3 222 NMEH| 23,000
- MEHXI(A4) 2003 * 1,00008 = 203 4,000
- ZAH(2E) 5,000& = 5004 = 203l 5,000
- Edi3te 50,000& = 14712 * 203l 14,000
< Sl > 0
o ZYEE L 20T 2YALEA
7,0002 * 2 * 140 1,960
02 =224l 10,000 9,700 300
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2N

& 3t
M 20z s
& S3oi=s 2 23 2el (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
<SS HA > 0
o =230 =3 2HE s
2,500,000& = 13l 2,500
o RUAE 38, =& 3l
300,000& = 13l 300
< ANEZHI=XH > 0
o 232 ZHALH w2
300,000& = 12& 3,600
o 232 SAHAE |2
300,000& = 12& 3,600
202 Oddl 2,640 2,760 A 120
01 = LH 4 Hi 2,640 2,760 A 120
o DolE U 3P 292 =X
20,0003 = 2% » 66 2,640
206 M= Hl 13,400 9,000 4,400
01 M= 4l 13,400 9,000 4,400
o 203 SHE 225 7
200,000& = 45 = 103 8,000
o ZHa2 SHE 01013 2EX F
5,000& = 404 = 108 » 102 2,000
o 2o 3HE 01013 AHo0lE
50,000& = 4Z = 100K 2,000
o DTZHE gdoZ 3¢ 700,000& * 2JH 1,400
301 et a = 178,000 164,000 14,000
09 &AL HI B &S 178,000 164,000 14,000
o 230z JIEsd 5,000,000& * 102l 50,000
o WE9E =3J/E83¢ 33,000,000 * 13 33,000
o JIMNBE HHIA 10,000,000& * 23] 20,000
o NE20sl2XNAMNY =S (SHII260%
2x) 10,000,000& * 43| 40,000
o datad 3,500,000& * 103l 35,000
401 A& HIZ 201 Y] 86,000 0 86,000
01 A& HI 86,000 0 86,000
o HBHE SEAIAH &X
86,000,000 * 14l 86,000
405 XHoHF S HI 4,000 3,000 1,000
01 AL ESFH S 4,000 3,000 1,000
o ¢ 2oaa 2401012 ¢
800,000& = 5CH 4,000
S3A BHE R 2H 441,123 341,570 99,553
oL2tdiglsteAs 29 22| 272,149 279,170 AT,021
ENTY & 22 148,400 139,544 8,856
201 et 19,700 13,244 6,456
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N 23AIEAE A

B ZBCHD HE L 29
Sl O StHDIGR A 2Y - B2 (ol @)
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
01 At 22l ] 18,220 12,384 5,836
< gBt=ZHl > 0
o FHIIZd=z P 25,0008 = 105 * 12&8 3,000
o NEIRSZ 3,000
- X 15,000 * 105 » 12€ 1,800
- XX 10,000& = 105 * 128 1,200
o JHIIE U=z2E 250,000 * 42 1,000
o #HAHAY ADE F¢ 300,000& * 5& 1,500
o ZHCHNS2H S ELENE
2,000& * 1,5000H 3,000
< = EH| > 0
o TN gR FX 7,000 * 6H * 160 6,720
02 332494l 1,480 860 620
<K E2BL2YLHAM > 0
o DHIYAHIA OlE2 40,0008 * 12&€ 480
o T N2 3t 250,000 * 43| 1,000
202 04| 7,200 4,800 2,400
01 2L Y| 7,200 4,800 2,400
o T NEAER =X 20,0008 = 6Y x 60Y 7,200
206 M = Hl 11,000 7,500 3,500
01 & bl 11,000 7,500 3,500
o RFIDEH 900& * 10,0000H 9,000
o TNE2 3 400,000 * 5= 2,000
207 AT OH £ 8,500 7,000 1,500
01 A2 s<H| 8,500 7,000 1,500
o OI2t0I0IGHRA X2 MARC <
1,000& = 7,000 7,000
o SN HXIZEA MARC 2
1,000& = 1,500& 1,500
405 XHabF S| 102,000 107,000 A5,000
01 A&t = S F SHI 6,000 11,000 A5,000
o Az A NIFY 1,000,000& = 5=X 5,000
o HIZE ZEZHDI| 1,000,000& * 1CH 1,000
02 =AY 96,000 96,000 0
o Bt N P 12,500& * 4,800& 60,000
o DVD, 3D(¥3h)+¢ 30,000& * 1005 3,000
o NI Rl 20,000& = 500 10,000
o QLE P¢ 100,000 * 303 3,000
o S MM EAFY 12,500& * 1,600 20,000
Haupe U OXNENE 29 101,249 89,126 12,123
201 Bt 40,701 11,846 28,855
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FA: FAIE AP &

Ho
tol

B ZBCHD HE L 29
&2 ofJtdidiste A 2 - 22l (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 At 22l 7,835 9,120 A 1,285
< Ypt=ZHl > 0
o HOIHEAE HIOZ 22 60,0008 * 204 1,200
o 0l 8XE S/MTL (My office)
230,000& » 103 2,300
o 0IEXE S/M7L(8=2) 120,000& » 20& 2,400
o 0I8XE S/NF(8al) 38,700& » 503 1,935
02 =224l 32,866 2,726 30, 140
< B3I LHA > 0
o SHlad 0lg= 1,000,000& * 128 12,000
o B (A, S0)=NM2 SHSH
700,000& * 23|& = 128 16,800
< AN&EFUISXY > 0
o MAHEHl 7Y 50,000& * 45 = 63l 1,200
o FESAYFH RNl 35,813,000& * 8% 2,866
207 A RO H| 51,574 47,260 4,314
02 & AR I 51,574 47,260 4,314
o OIJtOI0IGHR A EHOIA = XIHE
38,200,000& * 12% 4,584
o O HEB &35 224
16,720,000& * 12% 2,007
o HE/AIEdD MOUOHAMAYE SN2+
23,500,000& * 12% 2,820
o HAHABULAAY RAES
97,880,000& * 10% 9,788
o UEKIPCAIAE R+
29,390,000& * 10% 2,939
o ZHAIAH FXE+ 15,275,000 * 12% 1,833
o NHESAIAE KRB
9,508,000& * 12% 1,141
o OSSN ATLIAIAL SANE S
4,533,000& = 12% 544
o HENZZZAMNLAE SNES
19,800,000& * 12% 2,376
o DHIATHBALY SRS
3,750,000& * 12% 450
o Zoa2 SHMMMAAY FXNEx
18,000,000& * 12% 2,160
o TN USSAAE STES
172,000,000& * 10% 17,200
o ZHa2 SHOIXN SXE=+
16,200,000& * 12% 1,944
o ZIAMH RANES 4,900,000& = 12% 588
o HIOlHAA EHAAR 2= 400,0003 * 38 1,200
405 XH&bE S HI 8,974 30,020 A 21,046
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A 23AIE A A
Hu: ZTCHB HE Y 29
&2 ofJtdidiste A 2 - 22l (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 et EFFHSHI 8,974 30,020 A 21,046
o ROoEEE) “FEFH wH
2,300,000& = 1CH 2,300
o SOMHEEEI =FA0MH WAl
2,274,000& = 104 2,274
o SAI WS 7 1,700,000& = 1CH 1,700
o ZRHE Uz 7Y 2,700,000& = 1O4 2,700
=otwaEHA 22,500 20,500 2,000
201 ¢er24] 22,500 20,500 2,000
01 At 22l 22,500 20,500 2,000
< eptx=24l > 0
o Z3tuA, SHMY M EE2=S A
500,000& * 52 2,500
<28=E > 0
o Z3Wa LAY
50,0003 = 10Z & = 40Al2¢ 20,000
HAEMZ2 23 22l 82,987 62,400 20,587
SN ¥ 23FFY 2F 22l 78,987 62,400 16,587
101 @124l 18,171 0 18,171
04 DIt 22 HEE = 18,171 0 18,171
o OISR L THUE By 2R
42,7209 = 19 * 270 11,535
o MEEY(EA) o8
5,2108 = 3AI2F = 300 4,689
o AHEE = 16,224,000& * 12% 1,947
201 ¢et24] 7,296 0 7,296
01 At 22l 7,296 0 7,296
< dptx=24l > 0
o HJIHd=E FY 100,000& * 108 1,000
o MERSZ 129,600& * 103 1,296
o 3JNE =8 S 300,000& = 5& 1,500
o TS HEAEE S 300,000& * 5& 1,500
o FHCH =TS E2SHE
2,000& = 1,000% 2,000
206 M= Hl 3,000 5,900 A 2,900
01 M= 4l 3,000 5,900 22,900
< RFID B 1,000& = 2,0000H 2,000
o TAECES 250,000& 43 1,000
207 O &l 4,000 4,500 A 500
01 2284 4,000 4,500 A 500
o &M MARCESE E9HI 1,000& = 4,000 4,000
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EX: S3AIEAISE A
Hu: ZTCHB HE Y 29
Sl S0lSHE 29 2 CERED
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
206 M = Hl 3,000 3,000
01 XH 2 H| 3,000 3,000
o RFID B P ¢ 1,000 = 2,00004 2,000
o T NHEeUEE 250,0008 » 4= 1,000
207 A F 0 | 4,000 4,000
01 A 4,000 4,000
o TN MARCHZF 2<H| 1,000& = 4,000 4,000
301 et A= 14,000 14,000
09 HAIAHIBEAZ 14,000 14,000
o Ha TISAIA SSAH EA
10,000& * 4% * 200& 8,000
o FTU TSSAIA SSAH EA
15,0008 = 4% 100 6,000
307 2izto| A 11,520 11,520
05 QIZtRES 11,520 11,520
o Ot SEARHE HHEY
960,000& » 12€ 11,520
405 XHAHFIEHI 21,000 21,000
01 XAt 2 E F S| 1,000 1,000
o HZE TP 1,000,000& * 104 1,000
02 = A7 20,000 20,000
o Yt N P 12,500€ = 1,600 20,000
2sna 29 4,000 4,000
201 LBt 4,000 4,000
01 AP 22| H| 4,000 4,000
< LY > 0
o F3na 2g ZAIE
50,000 = 22X x 40A|2¢ 4,000
HESAAHI(23HAIE A 317,204 302, 15,002
ol =2dH| 33,312 39, A 6,303
ol ALY 33,312 39, N 6,303
101 121 H] 33,312 39, N6,303
01 2 33,312 39, N 6,303
< =g > 0
o Al2HZ224E
8,675 * 16YH = 20Al2+ ~ 12&€ 33,312
&l 283,892 262, 21,305
Jl2 &34l 283,892 262, 21,305
201 LBt Y| 277,292 256, 21,265
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A 23AIE A A
HE: BHSYAL (SN EAYL)
chelr D123l (&)
SA - BB B () - MM - BES Ol &t o San HmEET
01 At 22l 53,192 51,507 1,685
< ZEh=2Hl > 0
o ANRARYE 225 7Y 7,700
- ANEES 20,0003 = 20& = 33l 1,200
- SAMEX 25,000& = 584 « 123 1,500
-EU S WNARE
250,000& = 1004 = 23l 5,000
o NE2E F4AEF ¥ 9,160
- AIA 30,000& = 6& = 123l 2,160
- SEX 50,000& * 20=tA * 43 4,000
- JIEt EAES 50,000& = 158 « 43| 3,000
o Z3AIE 2tE S FHl 200,000 * 6JH A 1,200
o MyJISEM S§ #Y
7003 = 25004 = 123 2,100
o RHRSF 268
- gt 300& = 108 ~ 12& 36
- s 1,930& * 108 ~ 123 232
o SEAJ|, ZEE 5 HFFH +4H
100,000& = 700 = 13l 700
o A& Il 7L 30,000& = 58 « 23l 300
o Ag%E #¢ 10,000& = 158 * 23l 300
o gNg 7 2Y L A=l
100,000& * 53| 500
o SE 2SI (Hdl) 7,000& = 243l 168
<2ds€ > 0
o YA 16,800
- g3 50,000 = 198 * 117 5,850
- =3 30,000& » 18 » 365¢ 10,950
< o€t > 0
o 2AE FRIR FIA
7,0002 * 1498 * 32 3,136
<YgX=E > 0
o )| "HERZ 50,000& = 16CH = 123 9,600
o sEA NFI HER
21,0003 = 50 = 123 1,260
02 =224l 224,100 204,520 19,580
<SS HA > 0
o MIIR3 17,000,000& * 12& 204,000
o & otk AMER 1,000,000& = 12& 12,000
o Zaosz 2 Y I AEBE
35,000& * 1314 = 12& 420
o AdYs == 20,000& x 734 x 123 1,680
o gAze BE3 1,000,000& * 23] 2,000
< RbEdl > 0
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2N
X ZH -
L= B

el

SHAIE ALY &

2L (SSIAIE AL A)
2

0!

- B(EN) - NRAY - By S il
o Xtg =Xl 3,000,000& » 104 ,000
o F%MU 1,851.520& * 5404 + 1CH ,000
203 R =&t ,600 6,560
02 A H 2= 600 560
o A9 AIIEZE A 40,000& = 15 600
03 A Z=XH =AY ,000 3,000
o ZALAL2ELR =
250,000& * 12& ,000
04 NI FAH ,000 3,000
= 15¢! 0lat 250,000& ~ 12& ,000
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